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same in totm-1r
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We'll show what's going on for n=2,3, N = H:
m =2: Iz

-

~ Map(T? Tob(((21)↓ ↓ -As

LM(ss, IR( eve
- T fz Mop(+, (2)2

↓

ev (anp** To
2-cube of configuredient
is
very simple

=>T
=Map(+S") *Cz -> Co = pt

↑ ↑

Our Prover11Peserest Cez 7 C=

↑ F I

where W =0, AD, -> D" ToU(()IsFrstoFeE*
are dises bounding L.
Ex degree (ev) = D. NDett.



Key Camue: Tatoltc(2 =2

Sis genurled by
i toanooooo...-
7

~

-

5=0(5 xy aroe ⑤

8at2 axcktatean 11-12
⑳roof: 1((((same on is a generator

·

2 from fibr
↓ the arc Ce "Cmore floodies away from X to midpoit. A

f

1- Y
+

B

m =3: Conf 3-cube is more interesting:
c.=

Cg= pt

to! (
20

&

⑳i Ce ( = Tot C asigin) = 100(2 >

C423 223 C3 Co
x(13



Key Kuna: 1- 9x,,x,y =5vs= sisis Tot(s=E

:3.byto+(((c If /E
*W

↓ Cs -> G0x 623
3=0(b-x1+y) 2.Cz3 ↓

r ↳ C12
Bxy + D7 w-[,+3

vvyT
=J Tob(((z) =

N.moremore clasp = lowolops on"Hab R0f(5"s"-sSto the left. He exkeds to 0 wo Cy
N

8 go....Map(t3, TorCEs HiCron-Milnor: thish ↳

LM(SES2S, 1RYe, to Mop(+*,(s)T I is 2-connected will
T

#
Ove I Efa. MopCtECal yEE,gewoet



Need to show (,(123) =F,ers() = St, TorC
for I almost trivial I

x,(w)cz = t(Tor()
The lift is actually is give by W. tower Wot order1,

similarly for all higher degrees!
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